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Zakhor: What Are We Supposed to Remember?
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Questions:
1) Ifwe're supposed to wipe out any 13T of P91V, how are we to constantly remember them? (the “Hamsan” problem)
2)  Wouldn't the ideal NWI9 to read be the story in MNW, rather than the NN to remember? Isn't it self-veferential?

3)  What s it we are supposed to be remembering?
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4)  How are we to remember “this day”?
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5)  Why don’t we read the story in MNW 790 to fulfill the core obligation of DIXN NRIX? 970 (and the daily 1”731)?
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6)  Why did the Jews - on their own — choose to “celebrate the celebration” instead of “celebrating the victory”?
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